
MACII05 Test 2 Name
Deborah Howard 3-16

Show all work for credit. Turn in all scratch work in a neat and orderly fashion.

1. Solve by the graphing method. You must show all supporting work for credit.
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2. Solve by the factoring method. You must show all
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3. Solve by the quadratic formula method. You must show all supporting work for credit.
2x2-7x-4=O
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4. Solve by the extraction of roots method. You must show supporting work for credit.
Sx2 - 10 = 0
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5. Solvev'9x + 67 - 5 = x
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6. a. Use your shiftingrules to findthe equationof the given graphwhere each

tick mark representsone unit. - ('1..3 ciouJV\If~ \ e.-n --- 3
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b. Suppose the graph of [ex) = Ixl is shiftedto the left 5 units and reflected
around the x axis. What is the equation that gives the new graph'l
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7. Given the graph on the left to be [(x) and the graph on the right to be g(x).
Each tick mark represents one unit. Find each of the following.
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G) a. ([ + g)(O) =
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8. Graph the system of inequalities and identify all comer points.
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9. Findf-l(x), givenf(x) = 4X-2.3

x = 41-'J.
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10. Given f(x) = .yx + land g(x) = lOx, find each of the following.

(1) a.) (fog)(x) = + ( ~ (X)) ::: I ~ /0 X + I

(j) b.) (gof)(x) = 3 (fCx)) ::: II 0 .f x+ I


